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(10%)2=10% | M | mega- | (2%0)?=220=10602| Mi | mebi- 1,048,576
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(10%)°=10"| E | exa- ((2'9)°=2%=10'"%| Ei | exbi- 1,152,921,504,606,846,976
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) Duty cycle

Duty Cycle = t?w x100[%0]
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SSI(Small Scale IC) 1007} 0|5

MSI(Medium Scale IC) 100 ~ 1,0007H

LSI(Large Scale IC) 1,000 ~ 10,0007§
VLSI(Very Large Scale IC) 10,000 ~ 1,000,0007j
ULSI(Ultra Large Scale IC) 1,000,000 7} O| At
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@ ADC - DAC Example

Sound Wave:

Microphone

Storage

Devices ‘

Digital Processori
i - Effects :
i - Filters

i - Conversion

i - More...

Inside Computer
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Electrical Voltage

Sound Wayes

Speaker

_ WDALC
- ideal transfer WREF Z | Full scale (FS)
digital characteristic e
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1 110 1 -E' -
' 101 |- d DAC A = b 1 LSB
»> ADC = b2 100 | op— bz — - =
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Analog n-bit digital ggé Ty |, | Gcale n-bit digital E? ooaoaoil 11 1
Signal word b2b1b0 448 B/EFS werd nng |1:II1II 1 g ? |1:| 1
Analog input signal Digital input code
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